This page was exported from - New L ead2pass PDF And VCE Ensure IT Exam Pass 100%
Export date: Wed Jan 22 23:08:04 2025/ +0000 GMT

k2017 New Pass 200-125 Exam By Exercising L ead2pass L atest 200-125 VCE
nd PDF Dumps (51-75)

2017 June Cisco Official New Released 200-125 Dumps in L ead2pass.com! 100% Free Download! 100% Pass Guaranteed! 2017
latest released Cisco official 200-125 exam question free download from Lead2pass! All new updated questions and answers are real
questions from Cisco Exam Center! Following questions and answers are all new published by Cisco Official Exam Center:
http://www.lead2pass.com/200-125.html QUESTION 51Refer to the exhibit. Which two statements are true about interVLAN
routing in the topology that is shown in the exhibit? (Choosetwo.) A. Host E and host F use the same | P gateway address.B.
Router1 and Switch2 should be connected via a crossover cable.C. Routerl will not play arole in communications between host A
and host DD. The FastEthernet 0/0 interface on Routerl must be configured with subinterfaces.E. Routerl needs more LAN
interfaces to accommodate the VLANSs that are shown in the exhibit.F. The FastEthernet 0/0 interface on Routerl and the
FastEthernet 0/1 interface on Switch2 trunk ports must be configured using the same encapsulation type. Answer: DF QUESTION 52
Which two of these are characteristics of the 802.1Q protocol ? (Choose two.) A. It isused exclusively for tagging VLAN frames
and does not address network reconvergence following switched network topology changes.B. It modifies the 802.3 frame header,
and thus requires that the FCS be recomputed.C. It isaLayer 2 messaging protocol which maintains VLAN configurations across
networks.D. It includes an 8-bit field which specifies the priority of aframe.E. It isatrunking protocol capable of carrying
untagged frames. Answer: BEExplanation:802.1Q protocol, or Virtual Bridged Local Area Networks protocol, mainly stipulates the
realization of the VLAN. 802.1Q is a standardized relay method that inserts 4 bytes field into the original Ethernet frame and
re-calculate the FCS. 802.1Q frame relay supports two types of frame: marked and non-marked. Non-marked frame carries no
VLAN identification information. QUESTION 53Refer to the exhibit. Each of these four switches has been configured with a
hostname, as well as being configured to run RSTP. No other configuration changes have been made. Which three of these show the
correct RSTP port roles for the indicated switches and interfaces? (Choosethree) A. SwitchA, Fa0/2, designatedB. SwitchA,
Fa0/1, rootC. SwitchB, Gi0/2, rootD. SwitchB, Gi0/1, designatedE. SwitchC, Fa0/2, rootF. SwitchD, Gi0/2, root Answer:
ABFExplanation: The question says "no other configuration changes have been made" so we can understand these switches have the
same bridge priority. Switch C has lowest MAC address so it will become root bridge and 2 of its ports (Fa0/1 & Fa0/2) will be
designated ports. Because SwitchC is the root bridge so the 2 ports nearest SwitchC on SwitchA (Fa0/1) and SwitchD (Gi0/2) will
be root ports..Now we come to the most difficult part of this question: SwitchB must have aroot port so which port will it choose?
To answer this question we need to know about STP cost and port cost. In general, "cost” is calculated based on bandwidth of the
link. The higher the bandwidth on alink, the lower the value of its cost. Below are the cost values you should memorize: SwitchB
will choose the interface with lower cost to the root bridge as the root port so we must calculate the cost on interface Gi0/1 & Gi0/2
of SwitchB to the root bridge. This can be calculated from the "cost to the root bridge" of each switch because a switch always
advertises its cost to the root bridge in its BPDU. The receiving switch will add itslocal port cost value to the cost in the BPDU.One
more thing to notice is that aroot bridge always advertises the cost to the root bridge (itself) with an initial value of 0.Now let's have
alook at the topology again SwitchC advertisesits cost to the root bridge with a value of 0. Switch D adds 4 (the cost value of
1Gbpslink) and advertises this value (4) to SwitchB. SwitchB adds another 4 and learns that it can reach SwitchC via Gi0/1 port
with atotal cost of 8. The same process happens for SwitchA and SwitchB learns that it can reach SwitchC via Gi0/2 with a total
cost of 23 -> Switch B chooses Gi0/1 asits root port ->Now our last task isto identify the port roles of the ports between SwitchA &
SwitchB. It israther easy asthe MAC address of SwitchA islower than that of SwitchB so Fa0/2 of SwitchA will be designated port
while Gi0/2 of SwitchB will be alternative port. Below summaries al the port roles of these switches: + DP: Designated Port
(forwarding state)+ RP: Root Port (forwarding state) QUESTION 54What is one benefit of PVST+? A. PV ST+ supports Layer 3
load balancing without loops.B. PV ST+ reduces the CPU cyclesfor al the switchesin the network.C. PV ST+ alows the root
switch location to be optimized per VLAN.D. PV ST+ automatically selects the root bridge location, to provide optimized
bandwidth usage. Answer: CExplanation: The PV ST+ provides Layer 2 load-balancing for the VLAN on which it runs. Y ou can
create different logical topologies by using the VLANSs on your network to ensure that all of your links are used but that no one link
is oversubscribed. Each instance of PVST+ on aVLAN has asingle root switch. Thisroot switch propagates the spanning-tree
information associated with that VLAN to al other switches in the network. Because each switch has the same information about the
network, this process ensures that the network topology is maintained and optimized per VLAN.
http://www.cisco.com/en/U S/docs/switches/lan/catal yst3750x_3560x/software/release/12.2 55 se/configuration/quide/swstp.html
QUESTION 55Refer to the exhibit. The network administrator normally establishes a Telnet session with the switch from host A .
However, host A is unavailable. The administrator's attempt to telnet to the switch from host B fails, but pings to the other two hosts
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are successful. What istheissue? A. Host B and the switch need to be in the same subnet.B.  The switch interface connected to
therouter isdown.C. Host B needsto be assigned an IP addressin VLAN 1.D. The switch needs an appropriate default gateway
assigned.E. The switch interfaces need the appropriate | P addresses assigned. Answer: DExplanation: Ping was successful form
host B to other hosts because of intervlan routing configured on router. But to manage switch viatelnet the VLAN32 on the switch
needs to be configured interface vian32 along with ip address and its appropriate default-gateway address. Since VLAN1 interfaceis
already configure on switch Host A was able to telnet switch. QUESTION 56Which are valid modes for a switch port used as a
VLAN trunk? (Choosethree.) A. transparentB. autoC. onD. desirableE. blockingF. forwarding Answer: BCD
QUESTION 57Refer to the exhibit. Which switch provides the spanning-tree designated port role for the network segment that
servicesthe printers? A. SwitchlB. Switch2C. Switch3D. Switch4 Answer: CExplanation:Printers are connected by hubs.
Decide the switch that provides the spanning-tree designated port role between Switch3 and Switch4. They have the same priority
32768. Compare their MAC addresses. Switch3 with asmaller MAC address will provide a designated port for printers. QUESTION
58Refer to Exhibit. How many broadcast domains are shown in the graphic assuming only the default VLAN is configured on the
switches? A. oneB. twoC. sixD. twelve Answer: AExplanation:Only router can break up broadcast domains but in this
exhibit no router is used so thereis only 1 broadcast domain.For your information, there are 7 collision domainsin this exhibit (6
collision domains between hubs & switches + 1 collision between the two switches). QUESTION 59Which three of these statements
regarding 802.1Q trunking are correct? (Choose three.)) A.  802.1Q native VLAN frames are untagged by default.B.  802.1Q
trunking ports can also be secure ports.C.  802.1Q trunks can use 10 Mb/s Ethernet interfaces.D.  802.1Q trunks require
full-duplex, point-to-point connectivity.E. 802.1Q trunks should have native VLANSs that are the same at both ends. Answer: ACE
Explanation:By default, 802.1Q trunk defined Native VLAN in order to forward unmarked frame. Switches can forward Layer 2
frame from Native VLAN on unmarked trunks port. Receiver switches will transmit al unmarked packetsto Native VLAN. Native
VLAN isthe default VLAN configuration of port. Note for the 802.1Q trunk ports between two devices, the same Native VLAN
configuration is required on both sides of the link. If the Native VLAN in 802.1Q trunk ports on same trunk link is properly
configured, it could lead to layer 2 loops. The 802.1Q trunk link transmits VLAN information through Ethernet. QUESTION 60
Refer to the exhibit. The output that is shown is generated at a switch. Which three statements are true? (Choose three.) A.  All
portswill bein astate of discarding, learning, or forwarding.B. Thirty VLANS have been configured on this switch.C. The
bridge priority islower than the default value for spanning tree.D.  All interfaces that are shown are on shared media.E. Al
designated ports arein aforwarding state.F.  This switch must be the root bridge for all VLANSs on this switch. Answer: ACE
Explanation:From the output, we see that all ports are in Designated role (forwarding state). The command "show spanning-tree vlan
30 only shows us information about VLAN 30. We don't know how many VLAN existsin this switch ->The bridge priority of this
switch is 24606 which is lower than the default value bridge priority 32768 -> .All three interfaces on this switch have the
connection type "p2p", which means Point-to-point environment ?not a shared media >; The only thing we can specify is this switch
isthe root bridge for VLAN 3o but we can not guarantee it is also the root bridge for other VLANs -> QUESTION 61Refer to the
exhibit. At the end of an RSTP election process, which access layer switch port will assume the discarding role? A. Switch3, port
fa0/1B. Switch3, port fa0/12C. Switchd4, port fa0/11D. Switch4, port faO/2E.  Switch3, port GiO/1F.  Switch3, port Gi0/2
Answer: CExplanation:In this question, we only care about the Access Layer switches (Switch3 & 4). Switch 3 has alower bridge
ID than Switch 4 (because the MAC of Switch3 is smaller than that of Switch4) so both ports of Switch3 will bein forwarding state.
The alternative port will surely belong to Switch4. Switch4 will need to block one of its ports to avoid a bridging loop between the
two switches. But how does Switch4 select its blocked port? Well, the answer is based on the BPDUs it receives from Switch3. A
BPDU is superior than another if it has:1. A lower Root Bridge ID2. A lower path cost to the Root3. A lower Sending Bridge ID4. A
lower Sending Port IDThese four parameters are examined in order. In this specific case, all the BPDUs sent by Switch3 have the
same Root Bridge 1D, the same path cost to the Root and the same Sending Bridge ID. The only parameter |eft to select the best one
isthe Sending Port ID (Port ID = port priority + port index). In this case the port priorities are equal because they use the default
value, so Switch4 will compare port index values, which are unique to each port on the switch, and because Fa0/12 isinferior to
Fa0/1, Switch4 will select the port connected with Fa0/1 (of Switch3) asits root port and block the other port -> Port fa0/11 of
Switch4 will be blocked (discarding role). QUESTION 62Which term describes a spanning-tree network that has all switch portsin
either the blocking or fowarding state? A. convergedB. redundantC. provisionedD. spanned Answer: AExplanation:Spanning
Tree Protocol convergence (Layer 2 convergence) happens when bridges and switches have transitioned to either the forwarding or
blocking state. When layer 2 is converged, root bridgeis elected and all port roles (Root, Designated and Non-Designated) in all
switches are selected. QUESTION 63What are the possible trunking modes for a switch port? (Choose three.) A.  transparentB.
autoC. onD. desirableE. clientF. forwarding Answer: BCD QUESTION 64Which two of these statements regarding RSTP
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are correct? (Choosetwo.) A.  RSTP cannot operate with PVST+.B. RSTP defines new port roles.C.  RSTP defines no new port
states.D. RSTPisaproprietary implementation of IEEE 802.1D STP.E. RSTP is compatible with the original |EEE 802.1D STP.
Answer: BEExplanation:When network topology changes, rapid spanning tree protocol (IEEE802.1W, referred to as RSTP) will
speed up significantly the speed to re-cal cul ate spanning tree. RSTP not only defines the role of other ports: alternative port and
backup port, but also defines status of 3 ports. discarding status, learning status, forwarding status.RSTP is 802.1D standard
evolution, not revolution. It retains most of the parameters, and makes no changes. QUESTION 65Refer to the exhibit. Which two
statements are true of the interfaces on Switch1? (Choosetwo.) A. Multiple devices are connected directly to FastEthernet0/1.B.
A hub is connected directly to FastEthernet0/5.C.  FastEthernet0/1 is connected to a host with multiple network interface cards.D.
FastEthernet0/5 has statically assigned MAC addresses.E.  FastEthernetO/1 is configured as atrunk link.F.  Interface
FastEthernet0/2 has been disabled. Answer: BEExplanation:Carefully observe the information given after command show. Fa0/1is
connected to Switch2, seven MAC addresses correspond to Fa0/1, and these MAC arein different VLAN. From this we know that
Fa0/1 is the trunk interface.From the information given by show cdp neighbors we find that there is no Fa0/5 in CDP neighbor.
However, FO/5 corresponds to two MAC addresses in the same VLAN. Thus we know that Fa0/5 is connected to a Hub.Based on
the output shown, there are multiple MAC addresses from different VLANS attached to the FastEthernet 0/1 interface. Only trunks
are able to pass information from devices in multiple VLANs. QUESTION 66Three switches are connected to one another via trunk
ports. Assuming the default switch configuration, which switch is elected as the root bridge for the spanning-tree instance of VLAN
1? A. the switch with the highest MAC addressB. the switch with the lowest MAC addressC. the switch with the highest IP
addressD. the switch with the lowest | P address Answer: BExplanation:Each switch in your network will have aBridge ID Priority
value, more commonly referred to asaBID. This BID isacombination of adefault priority value and the switch's MAC address,
with the priority value listed first. The lowest BID will win the election process.For example, if a Cisco switch has the default
priority value of 32,768 and aMAC address of 11- 22-33-44-55-66, the BID would be 32768:11-22-33-44-55-66. Therefore, if the
switch priority isleft at the default, the MAC address is the deciding factor in the root bridge election. QUESTION 67What are three
advantages of VLANS? (Choosethree)) A. VLANSs establish broadcast domains in switched networks.B. VLANS utilize packet
filtering to enhance network security.C.  VLANS provide amethod of conserving |P addressesin large networks.D. VLANSs
provide alow-latency internetworking alternative to routed networks.E. VLANSs allow access to network services based on
department, not physical location.F. VLANSs can greatly simplify adding, moving, or changing hosts on the network. Answer: AEF
Explanation:VLAN technology is often used in practice, because it can better control layer2 broadcast to improve network security.
This makes network more flexible and scalable. Packet filtering is a function of firewall instead of VLAN. QUESTION 68Which
two benefits are provided by using a hierarchical addressing network addressing scheme? (Choosetwo.) A.  reduces routing table
entriesB. auto-negotiation of mediaratesC. efficient utilization of MAC addressesD. dedicated communications between
devicesE. ease of management and troubleshooting Answer: AEExplanation:Here are some of the benefits of hierarchical
addressing:Reference: http://www.ciscopress.com/articles/article.asp?p=174107 QUESTION 69What is the alternative notation for
the IPv6 address B514:82C3:0000:0000:0029:EC7A:0000:EC72? A. B514:82C3: 0029 : EC7A : EC72B. B514: 82C3:: 0029
: EC7A : EC72C. B514:82C3:0029:: EC7A : 0000: EC72D. B514:82C3::0029: EC7A : 0: EC72 Answer: DExplanation:
There are two ways that an 1Pv6 address can be additionally compressed: compressing |eadingzeros and substituting a group of
consecutive zeros with a single double colon (::). Both of these can be used in any number of combinations to notate the same
address. It isimportant to note that the double colon (::) can only be used once within asingle | Pv6 address notation. So, the extra0's
can only be compressed once. QUESTION 70Refer to the diagram. All hosts have connectivity with one another. Which statements
describe the addressing scheme that isin use in the network? (Choose three.)) A. The subnet mask in useis 255.255.255.192.B.
The subnet mask in use is 255.255.255.128.C. The IP address 172.16.1.25 can be assigned to hostsin VLAN1D. The IP address
172.16.1.205 can be assigned to hostsin VLAN1E. The LAN interface of the router is configured with one IP address.F. The
LAN interface of the router is configured with multiple I P addresses. Answer: BCFExplanation: The subnet mask in useis
255.255.255.128: Thisis subnet mask will support up to 126 hosts, which is needed.The I P address 172.16.1.25 can be assigned to
hostsin VLAN1: The usable host rangein this subnet is 172.16.1.1-172.16.1.126The LAN interface of the router is configured with
multiple IP addresses. The router will need 2 subinterfaces for the single physical interface, one with an IP address that belongs in
each VLAN. QUESTION 71Which two statements describe characteristics of 1Pv6 unicast addressing? (Choosetwo.) A.  Global
addresses start with 2000::/3.B.  Link-local addresses start with FE00:/12.C.  Link-local addresses start with FF00::/10.D. There
isonly one loopback addressand itis::1.E. If aglobal addressis assigned to an interface, then that is the only allowable address
for the interface. Answer: ADExplanation:Below isthe list of common kinds of IPv6 addresses: QUESTION 72The network
administrator has been asked to give reasons for moving from 1Pv4 to IPv6. What are two valid reasons for adopting |Pv6 over
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IPv4? (Choosetwo.) A. no broadcastB. change of source addressin the IPv6 headerC. change of destination addressin the
IPv6 headerD. Telnet access does not require a passworde.  autoconfigurationF.  NAT Answer: AEExplanation:|Pv6 does not
use broadcasts, and autoconfiguration is a feature of 1PV 6 that alows for hosts to automatically obtain an |Pv6 address. QUESTION
73An administrator must assign static |P addresses to the serversin a network. For network 192.168.20.24/29, the router is assigned
the first usable host address while the sales server is given the last usable host address. Which of the following should be entered
into the I P properties box for the sales server? A. 1P address: 192.168.20.14Subnet Mask: 255.255.255.248Default Gateway:
192.168.20.9B. P address: 192.168.20.254Subnet Mask: 255.255.255.0Default Gateway: 192.168.20.1C. |P address:
192.168.20.30Subnet Mask: 255.255.255.248Default Gateway: 192.168.20.25D. |P address: 192.168.20.30Subnet Mask:
255.255.255.240D¢€fault Gateway: 192.168.20.17E. |P address: 192.168.20.30Subnet Mask: 255.255.255.240Default Gateway':
192.168.20.25 Answer: CExplanation:For the 192.168.20.24/29 network, the usable hosts are 192.168.24.25 (router) ?192.168.24.30
(used for the sales server). QUESTION 74Which subnet mask would be appropriate for a network address range to be subnetted for
up to eight LANS, with each LAN containing 510 26 hosts? A.  0.0.0.240B. 255.255.255.252C. 255.255.255.0D.
255.255.255.224E.  255.255.255.240 Answer: DExplanation:For a class C network, a mask of 255.255.255.224 will alow for up to
8 networks with 32 I P addresses each (30 usable). QUESTION 75How many bits are contained in each field of an IPv6 address? A.
24B. 4C. 8D. 16 Answer: DExplanation:An IPv6 address is represented as eight groups of four hexadecimal digits, each group
representing 16 bits (two octets). The groups are separated by colons (). An example of an |Pv6 addressis
2001:0db8:85a3:0000:0000:8a2€:0370:7334. Lead2pass offers the latest Cisco 200-125 exam questions and answersin PDF & VCE.
We promise 100% 200-125 exam pass or full money back (Have atry- If success, you will get ahigh pay job! Failed, nothing,
money back!)! We provide instant download of our 200-125 dumps after payment so you can study earlier than others! 200-125 new
questions on Google Drive: https://drive.google.com/open?d=0B3Syig5i8gpDUGIMR3ZFUDNgeDQ 2017 Cisco 200-125 exam
dumps (All 765 Q& As) from Lead2pass: http://www.lead2pass.com/200-125.html [100% Exam Pass Guaranteed)]
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